DpT [GeV]

Ratio to ATLAS

7000 GeV pp_ Underlying Event

24— | e L A B s =

: Average IS N, (Il < 2.5, b, > 0.5 GeV) i

2.2 — —

- m ATLAS -

2 — --©-- Herwig++ 2.7.1 default —

~ Herwig++ 2.7.1 UE-EE-5 =

1.8 — --H3-- Herwig 7.2.1 default —

1.6 — —

1.4 =

1.2 — o

- e E}}E'EEE'E'EHE—B}Eﬂ . -

1— 34 - a

0.8 — —

0.6 — —

0.4 — —

: | | | | | | | | | | | |:

— ! [ ' ' ' ' [ ' ' ' ' 1

2 & -

1 E e s £ E}{HE}E}EEI G - - EEEB[E—EEI grigss 3}4}] & ]

05 _|
. L | I L L P I T T T TN

0 10 20 30

chg

Rivet 3.1.10, = 3.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


